Year 2

‘Learn it...



’ ~\
Name: ( Year 2 - 90 seconds )

BIG MATHS... %

JN

*BEAT THAT!

My ‘Beat That'

3 YouTube

L

4+9= 7x5= 6+7= 8+0= 4+7 =
3x5= 7+8= 8x5= 9x10= 6x10=
Ox2= 5x5= 5+9= 5+8= 5+7=
6+9= 5x10= 2x2= 3+9= 4x5=
9x5= 8x2= 4x10= 2x5H= 6+8=
2x10= 7x10= 7+9= 7x2= 8x10=
6x2= 4x2= 3x2= Bx2:= 6x5=
B+4= 3x10= 3+8= B+6= 4+8=



https://www.youtube.com/watch?v=rd9qMKYfToc
https://www.youtube.com/watch?v=rd9qMKYfToc

~

( Year 2 - 90 seconds )
BIG MATHS... W
*B EAT THAT!
4+9=13 7x5=35 6+7=13 8+9=17 4+7=11
3xb=15 7+8=15 8xb=40 9x10=50 |6x10=60
9x2=18 Bbxbz=?b b+9:=14 b+8=13 B+7=12
6+9=15 bx10=50 |2x2=4 3+9=12 4x5=270
9xbz=45 8x2=16 4x10=40 |2xb=10 6+8=14
2x10=20 |7x10=70 |7+9=16 Tx2=14 8x10=80
6x2=12 4x2=8 3x2=6 bx2=10 6xb5=30
5+4=0 3x10=30 | 3+8=11 b+6=11 4+8=12 @




3 YouTube

Name: ( Year 2 - 90 seconds )
- BIG MATHS... %

eS| BEAT THAT!

\ J
B+7= 5x10= 3xb= 7+8= 4+8=
4x5H= 4x2= 3+9= Oxb= 6+8=
8+0= 6+7= 2x5= H+8= BxbH=
Bx2= 6bx2= Tx2= 6x10= 4+9=
3+8= 3x10= B+6= 6+9= 4x10=
Ox10= H+0= 7x5= 2x2= 3x2=
4+7= 6xb= 8x2= 7+9= 7x10=

L 8x5-= 8x10= Bed= 2x10= Ox2= @

,\



https://www.youtube.com/watch?v=rd9qMKYfToc
https://www.youtube.com/watch?v=rd9qMKYfToc

( Year 2 - 90 seconds )

BIG MATHS...

#BEAT THAT!
B+7=12 bx10=50 |3xb=15 7+8=15 4+8=12
4x5=20 4x2=8 3+9=12 9xb=45 6+8=14
8+9=17 6+7=13 2x5=10 B5+8=13 Bx5=25
bx2=10 6x2=12 7x2=14 6x10=60 |4+9=13
3+8=11 3x10=30 |b+6=11 6+9=15 4x10=40
9x10=90 |b+9=14 7xb=35 2x2=4 3x2=6
4+7=11 6x5=30 8x2=16 7+9=16 7x10=70
8xb=40 8x10=80 |b+4=9 2x10=20 |9x2=18

~




( Year 2 - 90 seconds )

MName:
BIG MATHS... %
T 4 BEAT THAT!
LeOre Wils

N
6x5= 4+8= 6x10= 7+8= 9x10=
5+8= Ox2= 3+8:= Oxb:z 3+9:=
6+8= 3x10= bx2= 6+9= 2xbz
Bxb:z 4xhz b+9:= 2x2:= 7x2=
B+6= 4x10= Bx2= 8+9= 4+7=
8x10= 6+7= 4+9c= 8x5= 5x10=

YouTube 3x2= 8x2= Ax2= 3x5= 7 x5=

7x10= 2x10:= 7+9= 5+7= B+4=

L

.\



https://www.youtube.com/watch?v=rd9qMKYfToc
https://www.youtube.com/watch?v=rd9qMKYfToc

( Year 2 - 90 seconds )

BIG MATHS... W

4 BEAT THAT!
6xb=30 4+8=17 6x10=60 |7+8=1H O9x10=90
h+8=13 Ox2=18 3+8=11 Qxb=45 3+9=12
6+8=z14 3x10=30 |6x2=12 6+9:=15 2xbz=10
bxb=25H 4xb=20 h+9:=14 2x2=4 Tx2=14
h+6=11 4x10=40 |bx2=10 8+9:=17 4+7=11
8x10=80 |6+7=13 4+9:=13 8xb=40 bx10=50
3x2=6 8x2=16 4x2=8 3xb=1H 7xb=3b
7x10=70 2x10=20 |7+9:=16 Bh+7=12 b+4=9

~




-‘

Name: [ Year 2 - 90 seconds )
N BIG MATHS... ) §
Srreatll | BEAT THAT!
seove was
\.
8x2= 7+8= h+8= 8x10= 4+8=
3+9= bx2= 4x10:= Bhxb= 2x10=
2xe= B+4:= Ixe= 7x10= 6x10=
Bx10= bxb= 6+8: Bx2= 7+9=
4x5= B+7= 9x10= 6+7= 8x5=
6+9: 2xb= B+9: 9xb= 3x10=
Yﬂ“T“he 7x5= 7x2= 4+7= B+6= 3+8=
L 8+9= 4+9= 4x2: 3x5= Ox2=



https://www.youtube.com/watch?v=rd9qMKYfToc
https://www.youtube.com/watch?v=rd9qMKYfToc

BIG MATHS... %

( Year 2 - 90 seconds )

*B EAT THAT!
8x2=16 | 7+8=15 |5+8=13 | Bx10=80 |4+8=12
3+9:12 | 6x2=12  |4x10=40 |Bx5=25 |2x10=20
2x2=4  |5+4z=9  |3x226  |7x10=70 |6x10=60
5x10=50 |6x5=30 |6+8z14 |5x2=10 | 7+9=16
4x5=20 |B+7z12  |9x10=90 |6+7=13 | 8x5=40
64915  |2xb=10 |B+9=14  |9xB=45 |3x10=30
7x6235 |7x2=14 |4+7=11  |Be6=11 | 3+8=11
8+49=17  |4+9:13  |4x2=8  |3xB=15 | 9x2=18

\




MName:

JN

My ‘Beat That'

3 YouTube

L

BIG MATHS...

*BEAT THAT!

x

( Year 2 - 90 seconds )

oy
4+7= 7+9:= 3x10= 7x5= 7x10=
8x10= 3xb= 3x2= 5+9= Ox2=
6x5= 5+4:= 5+7= 8xb:= 6+9=
7+8= Ox10= 3+9= 6x10= 8x2:=
Bx2= 6+7= 4x5= B+6= 5x10-=
4+8= 4x10= 8+9:= 4x2= 4+9=
2x2= Ox5= Bxb= bx2= 2xb=
2x10= 5+8= 3+8= 6+8= 7x2=

~



https://www.youtube.com/watch?v=rd9qMKYfToc
https://www.youtube.com/watch?v=rd9qMKYfToc

BIG MATHS... %

\

( Year 2 - 90 seconds j

*B EAT THAT!
4+7=11 7+9=16 3x10=30 |7xb=35 7x10=70
8x10=80 |3xb=15 3x2=6 5+9-14 9x2=18
6x5=30 5+4=9 5+7=12 8x5=40 6+9=15
7+8=15 9x10=90 |3+9=12 6x10=60 |8x2=16
bx2=10 6+7=13 4x5=20 5+6=11 b5x10=50
4+8=12 4x10=40 |8+9=17 4x2=8 4+9=13
2x2=4 9x5=45 5x5=25 6x2=12 2x5=10
2x10=20 |b5+8=13 3+8=11 6+8=14 7x2=14




1’

[ Year 2 - 90 seconds )

MName:
BIG MATHS... %
———— 4BEAT THAT!
seove was
\.
8+9: 4x10= 9x10= 3+8= B+7=
8x2= Bx2= 4+8= 4xB= 3xb=
7x10= 2x10= 7xb= h+8= B+6=
5x10= Bxb= 8x10= 9xb= 4+9:=
Ox2= h+9= 4+7= 6+9= Tx2=
6+8= 3x2= 8xb= 3x10= 2xbz=
Yﬂ“T“he 6x2= 6x10= 7+8= 4x2= 6+7=
L 3+9: 7+9= 2x2:= B+4= 6x5=



https://www.youtube.com/watch?v=rd9qMKYfToc
https://www.youtube.com/watch?v=rd9qMKYfToc

BIG MATHS... ¥

~\

( Year 2 - 90 seconds )

1.,[3[5[‘1'1FP11¥T1
8+9=17 | 4x10=40 |9x10=90 |3+8=11  |5+7=12
8x2=16  |5x2=10 |4+8z12  |4x5=20 |3x5=15
7x10=70 |2x10=20 |7x5=35 |5+8=13  |B+6=1l
Bx10=50 |5x5=25 |8x10=80 |9x5=45 |4+9=13
Ox2z18  |B+9=14  |4+7=11  |6+9=15 | 7x2=14
6+8=14  |3x2=6  |8x5=40 |3x10=30 |2x5=10
6x2=12  |6x10=60 |7+8:15  |4x2=8 | 6+7=13
3+9=12  |7+9216  |2x2=4  |B+4=9  |6x5=30




~\

Name: ( Year 2 - 90 seconds )
N BIG MATHS... w
Srreatll |, BEAT THAT!
seore was
\. J
5+7= 6x10= 4+9= 8x5= 6+7=
4x10= 7xb= 6xb= 2x10= 8x10=
4x2= B+6= h+9= 2xe= 4+8=
8+9= 3xb= 9x10= 3x10= 7x10=
Bx2= 6+8= 4xhH= Hx10= 3+8=
6+9:= Bxb= 4+7= 3x2= Tx2=
Y 'I'b 6x2: 7+8= 9x2= 7+9= 2x5=
ou u e 3+9= 9xb= H+8= 8x2= B+4:z

L



https://www.youtube.com/watch?v=rd9qMKYfToc
https://www.youtube.com/watch?v=rd9qMKYfToc

BIG MATHS... W

( Year 2 - 90 seconds )

#BEAT THAT!

B+7=12 6x10=60 | 4+9=13 8xb=40 6+7=13
4x10=40 |7xb=35 6x5=30 2x10=20 |8x10=80
4x2=8 B5+6=11 5+9=14 2x2=4 4+8=12
8+9=17 3x5=15 9x10=90 |3x10=30 |7x10=7/0
5x2=10 6+8=14 4x5=20 5x10=50 |3+8=11
6+9=15 Bx5=25 4+7=11 3x2=6 7x2=14
6x2=12 7+8=15 9x2=18 7+9=16 2x5=10
3+9=12 9xb=45 5+8=13 8x2=16 B5+4=9

~




MName:

YouTuIEe

-\

C Year 2 - 90 seconds )

BIG MATHS...
———— 4 BEAT THAT!
SOAYE WLA...
Bx5= 3+9= B+7= 3xb= H+4=
6+7= 9xb= Bx10= 3x10= 4x5=
9x10= 7+8= 7x5= 4+7= 2x10=
6+8= 9x2= 4+9= 6x5= 6x2=
8x2:= 5+6= Tx2= 5+9 7+9=
3+8= 8x10= 2xb= 4x2= 8xb=
Bx2= 3x2:= 4x10= 7x10= 8+9=
5+8= 4+8= 6+9= 2x2= 6x10=



https://www.youtube.com/watch?v=rd9qMKYfToc
https://www.youtube.com/watch?v=rd9qMKYfToc

~

- 90 seconds )

( Year 2

BIG MATHS... W

*B EAT THAT!
bxb=25 3+9=12 b+7=12 3xb=1b 5+4=9
6+7=13 9x5=45 bx10=50 |3x10=30 |4xb=20
9x10=90 |7+8=156 7xb=35 4+7=11 2x10=20
6+8=14 9x2:=18 4+9=13 6xb=30 6x2=12
8x2=16 b+6=11 Tx2=14 b+9=14 7+9=16
3+8=11 8x10=80 |2xb=10 4x2=8 8xb=40
bx2=10 3x2=6 4x10=40 |7x10=70 |8+9=17
5+8=13 4+8=17 6+9=15 2x2=4 6x10=60




YouTuILJe

BIG MATHS... %

#BEAT THAT!

~\

( Year 2 - 90 seconds )

Iy
9x10= 7+9= 8x10= 4x10= 7x10=
5+9= bx2= 7+8= 3+8= 4x2=
3xb= 5x10= Bx2= Ox2= 6+8=
2x10= 3+9= 5+8= 3x10= 8xb=
7x5= Tx2= 2x2= 6xb= B5+6=
4+7= 2xb= 4+9= 6+9= Oxb=
Bxb= B+7= 4x5= 8x2= 3x2=
5+4:= 6x10= 8+9= 4+8= 6+7=



https://www.youtube.com/watch?v=rd9qMKYfToc
https://www.youtube.com/watch?v=rd9qMKYfToc

BIG MATHS... %

~

( Year 2 - 90 seconds )

#BEAT THAT!

9x10=90 |7+9=16 8x10=80 |4x10=40 |7x10=70
5+9=14 6x2=12 7+8=15 3+8=11 4x2=8
3xb=15 5x10=50 |bx2=10 9x2=18 6+8=14
2x10=20 |3+9=12 B5+8=13 3x10=30 |8xb=40
7xb=35 7Tx2=14 2x2=4 6xb=30 5+6=-11
4+7=11 2xb=10 4+9=13 6+9=17 9xb=4b5
5xb=25 b+7=12 4x5=20 8x2=16 3x2=6
5+4=9 6x10=60 |8+9=17 4+8=12 6+7=13




3 YouTube

L

~\

p
Name: ( Year 2 - 90 seconds )
- BIG MATHS...
Srrm=vaslll | BEAT THAT!
SCOTe Wik...
. ,-f
3+8= 7x10= Tx2= 8x10= 2x10=
Ox2:= 4+7= 2xb= 4+8= 3xb=
4x10= 4x5= B+7= 9xb= 6+8=
2x2= 4x2= hx2= 3x10= 7+9=
5+9:= 4+9= H+8= 6+9:= Bxb=
8x2= 8xbH= bx2= 7xb= 3+9:
hx10= 6xb= 3x2= 8+9:= 9x10=
6+7= 7+8= B+4:= 6x10= B+6=



https://www.youtube.com/watch?v=rd9qMKYfToc
https://www.youtube.com/watch?v=rd9qMKYfToc

BIG MATHS... W

~

( Year 2 - 90 seconds )

#BEAT THAT!
3+8=11 /x10=70 |7x2=14 8x10=80 |2x10=20
9x2=18 4+7=11 2x5=10 4+8=12 3xb5=15
4x10=40 |4xb=20 Bb+7=12 9x5=45 6+8=14
2x2=4 4x2=8 bx2=10 3x10=30 |7+9=16
5+9=14 4+9=13 5+8=13 6+9=15 5xb=25
8x2=16 8xb=40 6x2=12 7xb=35 3+9=12
5x10=50 |6xb=30 3x2=6 8+9=17 9x10=90
6+7=13 7+8=15 5+4=9 6x10=60 |b+6=11




